
NSN 2010-01-629-4693
Ship Propeller Parts Kit - Page 1 of 1

View Online at https://aerobasegroup.com/nsn/2010-01-629-4693

End Application:

Sentinel class fast response cutter b (frc-b)

Component Quantity:

36

Component Document Origin:

Industrial

Document Source:

76455

Document Type:

Procurement parts list

Component Document Page Number:

1

Supply Items And Quantities:

2010-01-627-9129,  fairwater cap,  p/n 950722,  1;  5340-01-627-8941,  anode zinc plate,  p/n 950733,  1;  5340-01-627-8979,  cover plate, 

p/n 950724,  1;  5325-01-627-9169,  retaining ring,  p/n 950726,  1;  5331-01-627-9365,  o-ring hub fwd propeller,  p/n 950748,  1

Nonsupply Items And Quantities:

76455,  o-ring fwd end fw cap,  p/n 950746,  1;  76455,  o-ring aft end fw cap,  p/n 950744,  1;  76455,  m16 x 2 x 50mm ss socket head cap

screw,  p/n 950756, 4;  76455,  m10 x 1.5 x 25mm ss socket head cap screw,  p/n 950755,  3;  76455,  sshex o-ring plug,  p/n 950714,  2; 

76455,  lifting eye bolt,  p/n 950738,  3;  76455,  plug ? Lifting hole,  p/n 950736,  6;  76455,  anti-vibration lock washer,  p/n 950759,  3; 

76455,  m6 x 1 20mm ss socket head cap screw,  p/n 950757,  8

End Item Source:

76455

Document Identification:

Usc frc propeller - components needed for installation

End Item Name:

2010-01-627-9761,  propeller,  marine p/n 531914

Shelf Life:

N/a

Unit Of Measure:

--

Demilitarization:

No

Fiig:

A23800

https://aerobasegroup.com

